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Stitch Pattern:
Brioche Pattern with Double Selvedge Stitches: 
(amount of sts multiple of 2 + 1 + 4 selvedge sts)
Row 1 (= WS row): �2 selvedge sts, * k1, sl1 p-wise 

with yo, rep from * to last 3 sts, 
then k1, 2 selvedge sts.

Row 2 (= RS row): �2 selvedge sts, * sl1 p-wise with 
yo, k2tog (sl st and yo of pre-
vious row), rep from * to last 3 
sts, then sl1 p-wise with yo, 2 
selvedge sts.

Row 3: �2 selvedge sts, * k2tog (sl st and yo of 
previous row), sl1 p-wise with yo, rep from 
* and end row with k2tog (sl st and yo of 
previous row) and 2 selvedge sts.

These rows establish the pattern. Rep rows 2 
and 3 cont throughout.
Double Selvedge Stitch (2 selvedge sts):
Work the first two sts in each row: k2 and and 
last two sts: sl 2 p-wise wyif.
Ribbing in Rounds: (hat, amount of sts multiple 
of 2)
Alt k1, p1 cont throughout.
Garter Stitch with Brioche Ribbing in Rounds: 
(hat, amount of sts multiple of 4)
Rnd 1: alt k3, 1 brioche st (= sl1 p-wise with yo)
Rnd 2: �alt p3, 1 brioche st (k2tog (= sl st and yo of 

previous rnd))
Garter Stitch in Rounds: (hat)
Rnd 1: knit all sts
Rnd 2: purl all sts
Rnds 1-2 establish the patt. Rep these 2 rnds 
cont.
Tip:
The hat doesn’t have a right side or wrong side 
and can be worn on both sides. On the one side 
the brioche sts are more noticeable and on the 
other side the garter st ribs are more three-di-
mensional.
Tension:
(Infinity Scarf) 13 sts and 35 rows to 10 cm meas 
over brioche st patt using size 6 - 7 mm needles 

Size:
Infinity Scarf: 
Width: approx. 22 cm, Circumfe-
rence: approx. 125 cm
Hat:
Head Circumference: 
approx. 54 cm - 57 cm

Usage:
Infinity Scarf: approx. 200 g
Hat with Pompon: approx. 200 g 

Quality: 
Big Colour Twist (Gründl)
100 % polyacrylic
200 g / 312 m

Difficulty level:

Pattern
BIG COLOUR TWIST 
Hat with Pompon & Infinity Scarf in Brioche Pattern

2 x

Needles:
Infinity Scarf:	          	 Hat:

6 - 7 5 - 6
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or size needed to achieve given tension.
(hat): �20 sts and 23 rnds to 10 cm meas, slightly 

stretched, over ribbing using size 5 - 
6 mm needles or size needed to achieve 
given tension.

(hat): �17 sts and 30 rnds to 10 cm meas over 
garter st with brioche ribs using size 5 - 
6 mm needles or size needed to achieve 
given tension.

Instructions:
Infinity Scarf:
Cast on 32 sts (28 sts in patt and 4 selvedge 
sts). Work in brioche patt as given with double 
selvedge sts until scarf meas 125 cm. Then 
cast off alls sts loosely working the sts with 
yos as knit sts and the sts in between as purl. 
Sew cast on and cast off edges together as 
flat as possible.
Hat:
Cast on 72 sts and divide amongst 4 dpns (= 4 
x 18 sts), close round making sure not to twist 
the sts. Work 13 cm in ribbing patt (= 28 rnds). 
Then cont in garter st with brioche patt. When 
hat meas total of 15 cm from cast on (= 44 
rnds) work the decs as follows:
Rnd 73: �k2tog the 2 sts before every brioche st 

and cont to work the patt as establis-
hed. (= 54 sts)

Rnds 74 - 76: �work straight without decs and 
cont the patt as established, that 
means 2 sts in garter st between 
the brioche sts.

Rnd 77: �k2tog between the brioche sts, wor-
king the brioche sts as established (= 
36 sts)

Rnds 78 - 80: �work straight without decs and 
work the pat as established, that 
means 1 garter st between the 
brioche sts.

Rnd 81: k2tog to end of rnd (= 18 sts)
Rnd 82: k2tog to end of rnd (= 9 sts)
Cut yarn and slip through the remaining 9 sts, 
pull taught to close hole. Make a pompon 
9 cm in diameter and attach to top of hat. 
Weave in ends. Fold back ribbing 7 cm.
Abbreviations:
alt = alternate(ing) 
approx. = approximate(ly) 
beg = begin(ning) 
col = colour(s) 
cont = continue (continuously) 
dec(s) = decrease(s) 
k = knit 

Chart Pompon:

meas = measure(d) 
patt = pattern 
p = purl 
p-wise = purl wise 
rep = repeat 
RS = right side 
sl = slip 
st(s) = stitch(es) 
tog = together 
wyif = with yarn in front of work 
WS = wrong side 
yo(s) = yarn over (needle)/ yarn round 
needle


